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ZE0: HE P(x) = 1+2x+3x2+H4x3 + 5x4 iUME
SNEHREX
P(x)=1+x(2+x(3+x(4+5x)))

FrH: 2RI & #9103 B B EE

(11101110),=27+26+25+0 +23 +22+2 +0
=((((((1:2+1)2+1)2+0)2+1)2+1)2+1)2+0

=238
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gL I, =1-nl,, (Iy=1-¢)
ME: I,=1-e1=0.63212055882856

SEFRITE: S =1-nS, ., S,=0.63212055882856

S, =1-0.63212055882856; S(2)=1-S;;
for n=2:20

S(n)=1-n*S(n-1)
end

?'i n=200F, S,,= —30.19239488558378
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S S,=1-nS,; |v.s| I=1 —nI,,_l]
‘ Sn_ In=_n(Sn-1_ n-l)

e(8,)=~ne(S,)=+++++= () 1)e(S))
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REEZ.
WEZ: I,=0-1)n
5(30)=1/31 iR{RR LG5t
for n=30:-1:2 S A, =—S,-1)n,
S(n-1)=(1-S(n))/n; (n=30,29,-,1)
end %1’%%%%%% S1
S0=1-S(1),S(1:21)
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& p=0.638. Bk BN 7K

V= Iodﬂ[Rz _(R=x)dx = %ﬂdz(3R—d)
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%ﬂdz(3R—d)

>  4Rp=d*(3R-d)

> @’-3Rd*+4R’p=0
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H,=0.638, R =10, {X \, 15:
d3-30d2+2552=0

& f(x)=x3-30x2+2552 HBERMT

3000 ; ; ;
j;%szgf X [8][0,20] 78 ME— 2000 | | |
P=[1-30 0 2552]; 1000 ¢
roots(P) --->Matlabdy4 ol
ans =
26.3146 -1000 *
11.8615
-8.1761 2% 5 10 15 20
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B/ (x)=07E[a,b] A E—R, Bf(a).f(b)<0

1) itE: y, € fla), xg€0.5(a+b), o€ fixy)
FIET: Eye=0, Mx, B4R, FMEET—;
2) FIER: Byyy,<0, Ma, €a, b, € x,

BN a,€xy, b;€b,y, €y,
3) Repeat! B ZIAZIFEEXK

x,=0.5(a+b)

[aa b] g >
Yo=flxg)=0 ?

XX >

la,,b,]=[a.x]

[a1,b1]=[x0,b]

x1=0.5(a1+b1)

01 >
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la,b] D |a,,b|D|a,,b,]>-Dla,,b]>D:

/5 1. fla,) f(b,)<0; 2.b,— a,=(b—a) 2"

EIE2. 2: xR fix)=01E[a, b)NBIME—IR, B f(a)-f(b)<0,, W —
MTEHED, FXERPET

X, = %(an + bn)(n =0,1,2, - )

WIE: | x, —x*|< (b - a)/ 2n11

1

I EE |x, - xS X107
b-—a 1 - b—a
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S, R exp(—x)—sin(”—;)=0 %
F£XI8 [0, 11ABIR; Za1+R. 4 |

B: < f(x)=exp(—x)— sin(%)

Step 1: FlHk
f(0)f(1)<0 ?

f0)=1>0 f()=e'—1<0 = f(0)f(1)<0
Step 2: FIBR7E[0, 1] R B BMHE—IR?
£'(x) = —[exp(=x) + gcos(%)] <0, 0<x<1

R0, |AB/IE—F 5, #(0,1] 2R X[E
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n an xXn bn

0 0 5.0000e-001 1.0000e+000
1 0 2.5000e-001 5.0000e-001
2 12.5000e-001 3.7500e-001 5.0000e-001
3 3.7500e-001 4.3750e-001 5.0000e-001
4 14.3750e-001 4.6875e-001 5.0000e-001
5 14.3750e-001 4.5313e-001 4.6875e-001
6 |4.3750e-001 4.4531e-001 4.5313e-001
7 14.3750e-001 4.4141e-001 4.4531e-001
8 14.4141e-001 4.4336e-001 4.4531e-001
9 14.4336e-001 4.4434e-001 4.4531e-001
10 |4.4336e-001 C 4.4385e-001 )H4.4434e-001

[ Xy — X*|< 17 211 <1/2000
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fld)=d?>-30d2+2552=0, [0, 2R]=[0, 20]

f=inline('x.”3-30*x.72+2552");
a=0; b=20; er=b-a; ya=f(a);
k=0; er0=.005;
while er>er(
x0=(a+b)/2; y0=1(x0);
if ya*y(0<0
b=x0;
else
a=x0; ya=y0;
end
er=b-a;k=k+1;
end
k, xk=(a+b)/2

k=12, x,=11.8628

li sEi
| x, — x*|< 20/ 213
<0.0025
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Ixk — x7|
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3. MR RZE Xy — X, | =7

4 1FR =10 cmAIBIAER, B p =0.5. FHURA K,
EHHEIZKREJ, BEEHFER,

T




FRTHA?

AETRERRNERRT

HZRRERERE

HiEKRIE=ES |61

—RiERER LA

BFRKXXE



